Whitman College

Econ 448

Final Exam

May 13, 2008

Write all answers in your blue book.  Show all of your work.  The exam ends at 4pm.

Use the following information to answer Questions 1-3 below.  Assume that uncovered interest parity holds.  In the short run, prices on average are not flexible but interest rates are. Assume that in the long run, prices and interest rates are flexible, and the quantity theory of money and purchasing power parity hold.  Assume that South Korea and Japan operate under a flexible exchange rate system.  Take the perspective of Korea as the home country, and define the exchange rate as Korean won per Japanese yen.  For simplicity, assume that neither Korea and nor Japan has growth in real potential Gross Domestic Product.  Each country maintains a constant nominal money supply, until period T, when the Bank of Korea makes a permanent one-time increase in its money supply.  Everyone sees the increase and believes that it will be permanent.

1.    (20pts)  Use a money market diagram for Korea and a foreign exchange market diagram to show the economic effects of Korea’s actions.  On your foreign exchange market diagram be explicit about what the expected foreign return (FR) curve represents.  On your diagrams, show the initial equilibrium (labeled point A), the short-run effects (labeled point B) and the long-run effects (labeled point C).  Explain what happens.  

2.  Plot each of the following variables on a separate chart with time on the horizontal axis.  On each chart, put time period T at about the middle of the horizontal axis.  Each chart should show the short-run and long-run effects of Korea’s actions.

(a)  (5pts)  Korea’s nominal money supply.

(b)  (5pts)  Korea’s price level.

(c)  (5pts)  Korea’s real money supply.

(d)  (5pts)  Korea’s nominal interest rate.

(e)  (5pts)  The exchange rate between the Korean won and the Japanese yen.

3.  (10pts)  Does exchange-rate overshooting occur in response to Korea’s actions?  If so, explain why the overshooting occurs.  If not, explain why overshooting does not occur.

4. (a)  (15pts)  Assume average prices are inflexible in the short run.  Draw a Keynesian Cross diagram for an open economy.  On your diagram, be explicit about each of the components of aggregate demand.  Label the goods market equilibrium (A).  

Now consider the information in the following article.

Disney Parks Flourish  Despite Economic Drought

Visitors Flock From Abroad

By PETER SANDERS

Wall Street Journal May 7, 2008; Page B1
Walt Disney Co. bucked the gloomy economic climate in its fiscal second quarter, as net income rose 22% from a year ago on surprisingly strong business at its theme parks and resorts and its TV networks. "The parks had an extraordinary quarter when you consider the economic environment," Chief Executive Robert Iger said in an interview.  Mr. Iger said the Disney parks are reaping unexpected benefits from factors such as the weak U.S. dollar. The number of international visitors to Disney's U.S. parks was up 25% from a year ago, thanks to the currency advantage for foreign travelers. On the flip side, he said, U.S. residents looking to avoid the high cost of traveling abroad are visiting the domestic parks instead. 
(b)  (10pts)  Suppose that your Keynesian Cross diagram from part (a) represents the United States economy.  On your diagram from part (a), show the expenditure-switching effect of having the dollar depreciate.  Explain in words why expenditure switching occurs.  Label the new goods market equilibrium (B).

5.  (20pts)  Define the J curve effect and explain what causes it.

6.  (20pts)  Consider the information in the following article.

IMF Changes Tack

By JOELLEN PERRY and BOB DAVIS

Wall Street Journal May 9, 2008; Page A9

The International Monetary Fund urged the central banks of developing nations to raise rates to fight inflation caused by rising fuel and food prices. The message was aimed particularly at nations such as Russia, Saudi Arabia, China and countries in Eastern Europe. "For emerging economies with currencies closely linked to the dollar that are fighting overheating concerns, macroeconomic policies need to be tightened in response to generalized inflation pressures," said John Lipsky, the IMF's deputy managing director. For China, that would mean moving to a flexible exchange rate, he said.

Explain why if China wanted to take the IMF’s advice and tighten its macroeconomic policies in response to inflationary pressure, China would need to move to a flexible exchange rate.  Be sure to state any assumptions that you make.

7.  (a)  (15pts)  Define and describe the First Generation explanation of the causes of exchange rate crises.  Describe what triggers a speculative attack.

(b)  (15pts)  Define and describe the Second Generation explanation of the causes of exchange rate crises.  Describe what triggers a speculative attack.

(c)  (15pts)  Define and describe the Third Generation explanation of the causes of exchange rate crises. Describe what triggers a speculative attack.

(d)  (15pts) Consider the exchange rate crisis in the country whose experience you presented to the class.  How well does each of the First, Second and Third Generation explanations account for the causes of the crisis in that country?  Explain your reasoning.

8.  (a) (5pts)  Define an optimal currency area.

(b)  (15pts)  Suppose you were trying to determine whether a particular region represented an optimal currency area.  What questions would you ask, and why would you ask them?
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